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22 32 4,2 52 6,3 73 8,3 9,3

A 1,1 10,3
A BbicoTa pabouen
MAOLWanKM OT Nofa, M B 2,1 32 4,2 52 6,2 73 8,3 9,3 10,3 1,3
B labaputHas BbicoTa, M c 3] 4,2 52 6,2 7.2 8,3 93 10,3 13 12,3
¢ Eé’fﬁﬂ patouen B 40 77 89 18 147 198 209 219 250 259
Pama 1,0 M (BMA - 700) = 2 3 2 - 2 - 2 - 2
Pama 2,0 M (BMA - 700) 2 2 4 4 6 6 8 8 10 10
Mepwvna orpaxgeHua - 2 2 2 4 4 4 4 6 6
CTshKKa AmaroHanbHas 1 2 4 4 6 6 8 8 10 10
CTayKKa ropu3oHTanbHas 1 1 = - - . - - - _
Pabouas nioLlagKka c SloKoM - 1 1 1 2 2 2 2 5 5
Pa6ouaqa nnolanka 6e3 nioka 1 = - - - - - - - -
TpaBepcalL=17mM - - - 2 = 2 2 2 2 2
CTa)KKa YHMBepcanbHasa cTanbHasa = = 2 2 2 2 2 2 2 2
YHUBUNKa = - - 4 - 4 4 4 4 4
KpenéxHaa ckoba 4 4 4 12 8 16 16 20 20 24
KoHcorb TpeyronbHasa ¢ XoMyTamMu - - - = 2 4 4 4 4 4
Onopa HeperynmpyemMas 4 - - - - - - - - -
Onopa BUHTOBasa L =160 MM ycun. - 4 4 4 4 - - = = =
Onopa BuHTOBagda L = 400 MM ycun. - - - - - 4 4 4 4 4
O6orMa yHMBepcanbHas - 4 4 4 4 4 4 4 4 4,
Koneco @ 125 MM + Kpenéx 4 - - - - - - - - -
Koneco @ 150 MM + Kpenéx - 4 4 4 4 4 4 4 4 4
[arka-koMneHcaTop - 4 4 4 4 - - - - R
Fanka-dpukcaTop Oss onopsbl - - - - - 4 4 4 4 4
MpoponbHoe 60pToOBOE OrpaXaeHme* 2 2 2 2 2 2 2 2 2
MonepeyH. 60pT. orpaxa. (BMA - 700)* 2 2 2 2 2 2 2 2

* [lon. kKoMnneKTauusa 17



